3"d Production with defaults cuts (Jaiby’s cuts for 15t production)
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.L Chain.C

Chain("DOTree")

TH1D *inv = new TH1D("inv","D0 mass",60,1.6,2.2)

DOTree->Draw("MassDO>>inv","ChargeKaon*ChargePion<0&&slength>-0.02&&slength<0.04&&
abs(slength*SinPointing)<0.02&&TMath::Sqrt((DcaTrackTXY*DcaTrackTXY)+(DcaTrackTZ*DcaTrackTZ))<0.02&&PKaon>0.7&&PPion>0.7&&PtD0>0.3")

TH1D *inv2 = new TH1D("inv2","D0 mass2",60,1.6,2.2)
DOTree->Draw("MassD0>>inv2","ChargeKaon*ChargePion>0&&slength>-0.02&&slength<0.04&&
abs(slength*SinPointing)<0.02&&TMath::Sqrt((DcaTrackTXY*DcaTrackTXY)+(DcaTrackTZ*DcaTrackTZ))<0.02&&PKaon>0.7&&PPion>0.7&&PtD0>0.3")

TH1D *inv3 = new TH1D("inv3","D0 mass3",60,1.6,2.2)
inv->Sumw2()

inv2->Sumw?2()

inv3->Add(inv,inv2,1,-1)

inv3->Draw()
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.L Chain.C

Chain("DO0Tree")

TH1D *inv4 = new TH1D("inv4","D0O mass",80,1.4,2.2)
chain->Draw("MassD0>>inv4","ChargeKaon*ChargePion<0&&slength>0.0050&&slength<0.04& &
abs(slength*SinPointing)<0.02&&TMath::Sqrt((DcaTrackTXY*DcaTrackTXY)+(DcaTrackTZ*DcaTrackTZ))<0.02&&PKaon>0.5&&PPion>0.5&&PtD0>0.5")

TH1D *inv5 = new TH1D("inv5","D0 mass",80,1.4,2.2)
chain->Draw("MassD0>>inv5","ChargeKaon*ChargePion>0&&slength>0.0050&&slength<0.04&&
abs(slength*SinPointing)<0.02&&TMath::Sqrt((DcaTrackTXY*DcaTrackTXY)+(DcaTrackTZ*DcaTrackTZ))<0.02&&PKaon>0.5&&PPion>0.5&&PtD0>0.5")

TH1D *inv6 = new TH1D("inv6","D0O mass",80,1.4,2.2)
inv4->Sumw2()

inv5->Sumw2()

inve->Add(inv4,inv5,1,-1)

inv6->Draw()
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inv3
Entries 74
Mean 1.784
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chain->Draw("MassD0>>inv","ChargeKaon*ChargePion<0&&slength>0.0050&&slength<0.04&&TMath::Sqrt((dcaXYPion*dcaXYPion)+
(dcaZPion*dcaZPion))>0.005&&TMath::Sqrt((dcaXYKaon*dcaXYKaon)+(dcaZKaon*dcaZKaon))>0.005&&TMath::Sqrt
((DcaTrackTXY*DcaTrackTXY)+(DcaTrackTZ*DcaTrackTZ))<0.005&&PKaon>0.5&&PPion>0.5&&PtD0>0.5")
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TH1D *inv = new TH1D("inv","D0 mass",80,1.4,2.2)

chain->Draw("MassD0>>inv","ChargeKaon*ChargePion<0&&slength>=0.0050& &slength<=0.05&&slength/dslength>=0.5&&TMath::Sqrt
((dcaXYPion*dcaXYPion)+(dcaZPion*dcaZPion))/SigmaDcaXYPion>0.8&&TMath::Sqrt((dcaXYKaon*dcaXYKaon)+(dcaZKaon*dcaZKaon))/
SigmaDcaXYKaon>0.8&&TMath::Sqrt((DcaTrackTXY*DcaTrackTXY)+(DcaTrackTZ*DcaTrackTZ))<0.05&&PtD0>1.5")
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chain->Draw("TMath::Sqgrt((dcaXYPion*dcaXYPion)+(dcaZPion*dcaZPion))>>hb1","","")
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